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Evhde the fundhion ot 400 — Replus x by 400
£(100) = 5.(100) +2 = 502
E.q. Evalde Luedion.
£(x) = *-2x+73
Evdde © £y ®4(D © £(-0

Sol.
o 2)= (2) -2(2)+ 7

= 4 -4 +3 -3
q‘!(z)—l (£e4 2w equll o?)
OJ;(O) (o) -2:(0) + #
- 0-0+% =73
So, (=% (feof 0 v equl b F)
© {(-1) - (-1) -2(-L) + 7
= 1 +2+3 =10

g"", £(‘1) = 10
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= (aﬁ}i) -~ 20 -2 + 7
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Evalludde - &(,...2)
£(x+2> = (x+2>z-2@) + 7
= (XGE?Z) - 2x-4 + 2

~—7
= X kb - 24K +F

= X4+ 2x +F
L(x+2) = 4223 \
= 2(-x) 7
£ (-x) - (-x) - 2(-x) + 7

= (-Jf-)(-x) + 2x + +

S |

= x® 2+ F
-, {{,(-x) = x> 42z ¢ '-7-1
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